Find the equivalent inductance of the circuit below. L, = 5H, L, =2H,and M = 3H.
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2. In the circuit below, using node analysis,
a. Find the current i.

b. Find the power dissipated in the 2 Q resistor.

£ 2‘%/} 20

G
1l
e

€z 4084~ o u

Cr~ Teg-2v4 A0y

?)F_Jg—ﬁ";?“_ :‘s

- ¢
” ] ~ -
~ €4 1 7eg =24
\ - wotoft —Tes = 36
- £
- A . ? |
.i s = ’}v' T

bY) 3™ vy |

‘.") i q - # i
5o 4 —¢g=p
oo (Jﬁ: ¥ v
Seb e
a8 Q{a FiA & u?
[} —_ - s
o _ ":\)ﬁ“ J 1 ’ 55
Nf— T
L

’ ‘aﬁ“’{én‘!‘ of o

7



S ooy
(< ic o n ik S . *

w5, ety MR
/ i‘j B il O’ —“f, Q o fg = i 40 T
[er s S P B 298
3. The circuit below has been idle for a long time (switch is open). At t = 0, the switch 9= 3,
is closed. «?7 ?p'\c, )i
a. Find the inductor current right before and after the switch is closed (i;,(07), and ,;,:: Q-
i, (07)). b= ; ;
b. Find v, right before and after the switch is closed (1,(07), and v, (0*)). ;
Find and plot v, (¢). - il Ty
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